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Math 70 Mixed Practice 9.8

Solve for exact answers, then find approximations with four decimal places.

1) In(3x)-In(x-3)=2 6) 577 =4

2) 3 =7 7) log, x+log, 2x-3=1
3) log,;2+logsx=2 8) 3-4™° =2

4) 3% =6 9 —log,(4x+7)+log, x=i

5) log(5x)-log(x+1)=4 10) 2.5 =1
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9.7.47 r™ .
o Use the formula A=P{ 1+ —| to solve the compound interest problem.
n
F md how long lt tak&s for $1500 to double if it is invested at 4% interest compounded monthly
The money will double in value in approx:mately - years.
(Do not round until the final answer. Then round to the nearest tenth as needed.)
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9.7.49 r
Use the formula A = P(l + —-) to solve the compound interest problem.
n

Find how long it takes a $1400 investment to earn $500 interest if it is invested at 2% interest
compounded quarterly.

$500 interest will be eamed in approximately | | years. (Round to the nearest tenth.)
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9.7.51 Find how long it takes $2000 to double if it is invested at 5% interest compounded semiannually.

n

nt
7N Use the formula A = P(l + i) to solve the compound interest problem.

It will take approximately D years.
(Do not round until the final answer. Then round to the nearest tenth as needed.)
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